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Instructions for the Candidates
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This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: ) Q) @ (@ where (3)is the correctresponse.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
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Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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INTERNATIONAL & AREA STUDIES
PAPER - 1II

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  Which one of the following is not a tangible element of National Power of a State ?
(1) Extent of territory (2) Human resource

(3) Military capability (4) National will

2. The idea of “emancipation” is central to which theory of International Relations ?

(1) Constructivism (2) Feminism (3) Critical theory (4) Post-modernism

3.  Match List - I (Authors) with List - II (Books) using the codes given below :

List -1 List - II
(Authors) (Books)
(a) M.W. Doyle (i)  Social Theory of International Politics
(b) R. Powell (i) Waysof War and Peace : Realism, Liberalism and Socialism
() A. Wendt (iii) In the Shadow of Power : States and Strategies in

International Politics

(d) R.D. Putnam (iv) Diplomacy and Domestic Politics : The Logic of
Two - level Games

Codes :

@@ () (o (d)

O @ @ O @
@ O G @ 6@
@) (i) @ 6@ 6
@ (v @ @) 6@
o-soss [ [N :
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Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The realist conception of power and its relation to security are located in
the idea of international anarchy.

Reason (R) : For realist, however, international anarchy means a fundamental contrast
between a settled and peaceful domestic order and violent and dangerous
international order.

Codes :

(1) Both (A) and (R) are correct, and (R) supports (A).
(2) Both (A) and (R) are not correct.

(3) (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Most states in the international system are not nation - states. According to
Anthony Smith they are state - nations.

Reason (R) : These can be no perfect aligment of nation and state. Mostly in Europe,
nationalism led to the formation of nation-states but in the post - colonial
countries states created out of the departing colonial powers had to construct
national identities.

Codes :

(1) Both (A) and (R) are not correct.
(2) Both (A) and (R) are correct.

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

=

Paper-11



= few U sifieRed (A) 3R ek (R) & faT W@t e #i vga™ Hife

APURAT (A) : VI 3R FR&T & WY 3H FAY i A STHYRUN SFRC SRl h

foram # feerd ©1

e (R) : T Femefenfedi & fau AU srstehar 1 7ef Tl IR wifqqul sRe] rewen

< :

1)
2)
®3)

(4)

3R fETe qon AT STaisia Syawen & o= giand duw= 71

(A) 3R (R) T T § 3R (R), (A) F1 F9F F@ 2|
(A) 3R (R) 3T HET TeT 2 |

(A) & T fohg (R) W TR B

(A) 5&l T ¢ fog (R) Wl €1

= fau U stfireRer (A) 3R @&k (R) & faT W&t Fie 1 vea™ Hifg

AMURAT (A) .  ARET el § Ifereher T, T2 - T9 6l &1 T fmy & oEr 9

T - T2 ¥ |

e (R) : T AT T 1 h1g 01 Gl T8l &l Hohdll | AT H ATIRIG: TLATG ok HROT

%<

1)
2)
®3)

(4)

T - A1 Rl T g8 Fohg STR-SATAfafreR Sl | T2l o1 Foi SAafTa e
el o ST o 918 3Tl 3R 3¢ UL T8a oM off |

(A) 3R (R) ST FET 7RI 2 |
(A) 3R (R) ST W&t T

(A) W& € fofg (R) ¥t 7 71
(A) 5&l T ¢ fog (R) Wl €1

o-sos [N ;



6. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : In the prevailing world order China an emerging contender challenges the
existing Super Power, the USA, and in the resulting fear and anxiety, new
alliances are formed and new competitions are likely to emerge, leading to
a conflict that neither side may actually want but is unable to prevent.

Reason (R) : It amounts to a contest between an established power and an emerging
power.

Codes :

(1) Both (A) and (R) are correct, but (R) is not a comprehensive explanation of (A).

(2) Both (A) and (R) are not correct.

(3)  (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.

7.  Who among the following referred to environmental threats as “Threat without enemies” ?

(1) Simon Dalby  (2) Gwyn Prins (3) Jessica Mathews (4) Barry Buzan

8.  Who among the following Chinese leaders proposed the idea of “Maritime Silk Road (MSR)”
for deepening cooperation between China and South-East Asia ?

(1) XiJinping (2)  Wu Jiao (3) Hu Jintao (4) Wang Yi

9.  Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Highly corrupt countries tend to underinvest in human capital to overinvest
in public infrastructure relative to private investment for profit making.

Reason (R) : High levels of corruption produce more unequal distribution of wealth under
conditions operating through investments in development schemes.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3)  (A) is correct but (R) not correct.
(4) (A) is not correct but (R) is correct.

=)}
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(1)
()
€)
4)

4
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10. Match the following given in List - I (Authors) with List - II (Books) by using the correct
code :
List - I List - II
(Authors) (Books)
(a) John Barry (i) Environmental democracy
(b) Murray Bookchin (i) Ecological Modernization
(c) Arne Naess (iii) The Third Revolution
(d) Michael Mason (iv) The Shallow and the Deep Long Range Ecology Movement
Codes
@@ () (o (d)
O ) O @ G
@ O @) @) @)
@) () @) @) 0
@) @) v 0O G
11. East Asian Economic Caucus (EAEC) was the brain child of :
(1) President Suharto (2) Thaksin Shinwatra
(3) Mahathir Mohammad (4) Nguyem Van Linh
12. Identify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : There is a legitimate concern about the US vulnerability as local industries
crucial to defence disappear, and hi-tech items are required by foreigners.
Reason (R) : The United States can try to counter this vulnerability by supporting their
own defence industries.
Codes :
(1) (A) is correct, but (R) is not correct.
(2) (A) is not correct, but (R) is correct.
(3) Both (A) and (R) are is not correct.
(4) Both (A) and (R) are correct, but (R) is not the comprehensive explanation of (A).
o-soss [ [N ;



10. W& FHe H FAN FI g GE - 1 (@ ) 3R Gt - 11 (Iaeh ) 1 gafad S

et - 1 it - 11

(W@ ) (T )
(a) S (i) TOmRSied U]
(b) X R (ii) SeRIQISTRE HISAESINN
(c) 9o 3| (iii) < u< Raiegyd
(d) WrEha B (iv) T S TUE S A IS it gane
e :

@@ () (@ ()
1 Gv) @) @) (i)
@ @ @) ) (i)
®) @) () @v) @)
4) () (v) @ (i)

11. 3= URMEA gMihs Hied (L) fhas gfass &t <7/ 1fashr ot ?
(1) regufd gerwd (2) emfEa e
(3) HeIfd HIgHE (4) A9 9H fos

12. e fou 7 arfueRe (A) iR Tk (R) % T W&t %2 1 9 it

AfireRed (A) ;TR &I SO AeEier &% SR # Ay fan €, wifw @ F faw gewy
M 3U o« & 9 €, IR fafr &1 S=-awis G=1-Suso &l sekd
BA R

& (R) : STHTCRT 3T R8T SR BT AHT e 39 SARiierdl 1 Wk €@ i A
a1 7 |

HE :

1) (A) ¥l 2 fhg (R) W&I a1 €|

2) (A)Hl TRl € fohg (R) T_1 B

(B) (A) 3R (R) I w& T
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13.

14.

15.

16.

Arrange the following in ascending chronological order with the help of the codes given
below :

(a) Eurasian Development Bank (b) Islamic Development Bank
(c) World Bank (d) Asian Development Bank
Codes :

1) (d), (), () @) 2) () (b) (@), (d)

(3) (k) (d), () @) @) () (d), (b), (@)

Identify correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : Globalisation has led to the undermining of the territorial state, assertion of
ethnic identities and led to backwardness and poverty in the developing
world.

Reason (R) : India and China among the developing countries have been achieving
impressive growth rates in the last few years.

Codes :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2) Both (A) and (R) are false but (R) is the correct explanation for (A).

(3) (A) is false, but (R) is true.

(4)

(A) is true and (R) is also true.

Chronologically arrange the following institutions in the ascending order using the codes
given below :

(a) European Economic Community
(b) European Coal and Steel Community

(c) European Free Trade Association

(d) NATO

Codes :

1) (), (d), (b), (a) ) (d), @), (b), ()
3)  (®), (9) (d), (a) 4)  (a), (b), (c), (d)

Which year India and Pakistan agreed not to attack each other’s nuclear facilities ?

(1) 1986 2) 1999 (3) 1987 (4) 2000

)
o-soss [ [N 1
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)
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17.

18.

19.

20.

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : In the realm of arms build-up, one nation’s common sense is another’s
high-blood pressure, culminating into uncontrolled arms race.

Reason (R) : Eventually, arms races are not conducive to peace, security and development.
Codes :

(1) Both (A) and (R) are correct, but (R) is not a comprehensive explanation of (A).

(2) Both (A) and (R) are not correct.

(3)  (A) is correct, but (R) is not correct.

(4)  (A) is not correct, but (R) is correct.

The Pakistani submarine, which was sunk in the Bay of Bengal during the Bangladesh War
of 1971 was known as :

(1) Khukri (2) Ghazni (3)  Stix (4) Ghazi

“MAID” refers to which one of the following ?
(1) Mutually Articulated Information Device
(2) Mutually Assured Intelligence Device

(3) Mutually Assured Information Destruction

(4) Mutually Assured Information Development

Which one of the following is an example of maritime terrorism ?
(1) USS Cole incident (2) 9/11 terrorist event in New York

(3)  26/11 terrorist event in Mumbai (4) Bali blast

o-soss [ [N 5
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21. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The 1965 war between India and Pakistan demonstrated that, contrary to
Pak expectations, there was no ground swell of support for its claim on
Kashmir amongst the Muslim Population of the state of ] and K.

Reason (R) : The Pakistani leadership also failed to recognize the growing hostility
amongst the East Pakistanis, who saw the Kashmir question as an essentially
West Pakistani concern for which their security was being needlessly

jeopardized.
Codes :
(1) Both (A) and (R) are not correct.
(2)  (A) is correct, but (R) is not correct.
(3) (A) is not correct, but (R) is correct.
(4) Both (A) and (R) are correct, but (R) is not the explanation of (A).

22.  One of the basic tenets of India’s Foreign Policy after Independence was :

(1) Freedom from bipolar power politics and military blocks
(2) Meeting internal challenges

(3)  Creating defence - industrial complex

(4) Poverty eradication

23. Arrange the following events in their correct chronological order of occurrence using the
code given below :

(a) Military takeover of the civil power in Pakistan by Gen. Pervez Musharraf.
(b) Military takeover of the civil power in Pakistan by Gen. Zia ul-Hagq.
(c) Military takeover of civil power in Pakistan by Gen. Ayub Khan.
(d) Military takeover of civil power in Bangladesh by Maj. Gen. Zia-ul-Rehman.
Codes :
D) (@) ®) () (d) (2) (9, (d), (b), (a)
®) () @), (d), (© @) (d), @) () (©
osos || HILHANAN 1
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(b) A FS-3a-3% g1 iR # fafae o 1§ e1fada |
)

IS Tgd @ gR uifhea § fafaa g w1 §=1 e |

(c
d) TR SE fSer-3a-ad gn fafae s w1 3 enfae |
< :
1)

@), (b), (@), (d) (2) (c) (d), (b), (@ () (b) (a) (d) () &) (d) (@) (b) (c)

JIHRARAD :




24. India upgraded its diplomatic relations with Vietnam in the year :

(1) 1965 2) 1972 3) 1975 (4) 1985

25. Identify the correct code from the codes given below for the Assertion (A) and Reason (R) :

Assertion (A) : India must decide and ensure a comprehensive neighbourhood policy that
contributes to its strength rather than saps it. Already, we can feel the
benefit of this policy ; and as demonstrated in the cases of Bhutan, Nepal,
China, Bangladesh, Sri Lanka, Afghanistan and Maldives, this can work
with a carefully crafted grand strategy and foreign policy.

Reason (R) : Conjugately, we need to recognise the limitations of influencing geo-political
developments very much within and beyond the South Asian region till we
reach a desirable stage of comprehensive power. Regrettably, Pakistan is a
clear-cut example in this context.

Codes :

(1) Both (A) and (R) are not correct.

(2) Both (A) and (R) are correct.

(3)  (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.

26. The Straits Settlements on Penang, Singapore and Malacca were governed by the British
before 1867 from the country :

(1) Burma (2) London (3) China (4) India

27. The Dumbarton Oaks Conference of 1944 was attended by how many countries ?

(1) 25 @) 28 3) 39 4) 42

28.  Which one of the following Articles is common to all Geneva Conventions (1949) ?

(1) Article 1 (2) Article 3 (3) Article 6 (4) Article 7

o-soss [ [N 1



24.

25.

26.

27.

28.

qd J frg a9 | foadam & @Y 79 qoiiaes el o1 3o o ?

(1) 1965 @) 1972 3) 1975

(4) 1985

FfueeT (A) 3R @k (R) & fo fou o 20 & 9 W& e fo=<ia =i

AMIFRAT (A) :  TRA I T T Fafior vt g Hifq sraeniia ofiv gifaa st M, i 54
SR wiferaqut ST 7 fof FHSIR | &H 39 T & 9 98t & STIHE H o § il

o [, e, =F, SRy, S, STHEME SR Weed & "me § g

T T, I8 WU § IR i T8 o7 TSt AR fogw ifq & we s 2 "ehd

gl

e (R) : TIY-T1Y T Ta q% AT Ikl & Fifsd TR Hl I T&) H od §, T Sfeqor
TR &7 & fid IR I8 W Y-Taiifas fasm o1 guifaa & &1 et o
WIHR FT M| BT ¢ T, wfrm 50 g ¥t T e 1

(1) (A) 3R (R) T W&t 71t 2
2) (A) 3R (R) S T F)
) (A) FE T, TRy (R) W& T R
)

(A) W&t 7 8, fhg (R) @I 2

3
(4

1T, FEMR TR Teraent & Saeaeqed & faare e =1 1867 & weat fafew grr for <o & wnfaa

Tomar STraT o ?

(1) =i (2) d=A (3) =M

Y 1944 F T Ao THAT | fohad <91 7 90T Tt on ?

1) 25 2) 28 3) 39

freifrd eTgeedl § | #F Tt SHaT Fee (1949) § 99H €2
(1) =21 (2) eTHT3 (3) ST 6

o-sos [N 1

(4) w4

4) 42

(4) TT=T7
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29. In the present politico-strategic environment, which one of following concepts relates to
“one for all, all for one” ?
(1) Collective Defence (2) Collective Security
(3) Strategic Partnership (4) Collective Force Projection
30. Which of the following countries comprised ‘four policemen’ in the UN under Roosevelt’s
idea ?
(1) US, USSR, UK, France (2) US, USSR, China, UK
(3) US, USSR, UK, Italy (4) US, USSR, UK, Belgium
31. Arrange the following international regulations in the ascending chronological order by
using the correct code given below :
(a) International Convention on Oil Pollution Preparedness, Response and Cooperation
(b) Convention on the Transboundary effects of Industrial Accidents
(c) International Convention on Civil Liability for Oil Pollution Damage
(d) Convention on the Prevention of Marine Pollution by Dumping of Wastes and Other
Matter
Codes :
1) (), () @ @ 2 (© @) @ k& @€ @@ b d @) (@, b)@ @
32. Inthe SAARC Summit at Kathmandu in November, 2014, a proposal to sign a Motor Vehicle
Argreement (MVA) did not succeed due to the reservation of one of the member country.
Which country is this ?
Bangladesh Bhutan (3) Pakistan (4) Nepal
ST —




29.

30.

31.

32.

Y TSI aeh-Srdtseh qiey § frefafead § 9 wF-9) s/eayron o9 B 3Aid, Aid B o=
(T g fau, 9a T & fow) 4§ deifuq &2

(1) HHfeH &l (2) HHEH &l
(3) A WrEer (4) HHfE® o J&qU

Fodee o faaR o STIHR 9% U § =R Yfauaq’ § fefafad 9 § &F 9 9R <9 wibd &2
1) 3TE, JTETER, &, ¥ (2) ITE., JTETER, 9H, I+

(3) ITH, JUEATHEIAR, I &, 3l (4) FITH., I TETHER,, 4., Sfcsad

= ST T et e &1 9A0 w3 gL Fefaten sTwafted faf=mi ol dARE S aar =areerd
Hife

(a) STAE HoMTE S A TeRH iy, Re-g 1we HIsiawm

(b) FHOTIA A T ARG THLH A Fe2dd TUade=d

() TTIHA wHaee i fafaa amafafadt wR sifaa diegem 89

(d) FEAIA AM T A= fF ARE dicgye a8 ST Afh 9y e 31e AR

FaR, 2014 § F1SHI H Tk FTER T e | Hie aed aHeidl (TH.A.T.) T 988 <9 & i
% U GHa T8l Bl T, I8 9 A © ?

ERGIE] 2) oA (3) IfeRsam (4) U

1 (
o-sos [N 1



33.

34.

35.

Match the following operations given in List - I with their respective years of occurrences in
List - IT and use the code given below to choose correct answer :

List - I List - II
(Operations) (Year)
(a) Operation Gibraltar i) 1987
(b) Operation Pawan i) 1965
(c) Operation Meghdoot (i) 1999
(d) Operation Vijay (iv) 1984
Codes :
(@ ®) (o (d)
1 G @ Gv) ()
2 @ @) @) (@)
3) @) (@) G (v)
@) (Gv) () @) ()

“Borobudur” was built by rulers of which one of the following kingdoms ?
(1) Champa Kingdom (2) Khmer Kingdom

(3)  Sri Vijaya Kingdom (4) Sailendra Kingdom

Arrange the following events in the chronological order of their occurrence and use the code
given below to choose correct answer :

(a) Shifting of the executive powers of the state from the monarchy to the political parties
in Nepal.

(b) Creation of monarchical institution in Nepal.

(c) Withdrawal of the executive powers from the political parties by the monarchy in
Nepal.

(d) Abolition of Monarchical institution in Nepal.

Codes :

D @) ®) (@) (d) 2) (), @), (©) (d)
€ @) (b), (d), (¢), (a)

) (), (©) (a), (b)
o-soss [N 2



33. FEt-1H fau 7 straem iR Feit-11 § fau 7 37 sfed 2 & o &% ary faem sifse ok 9= fau

34.

35.

T e | WH IW AT
T - 1 T - 11
( AT ) (a)
(a) STTIEH fSemeex () 1987
(b) STIEE qad (i) 1965
(c) SATRYH Hegd (iii) 1999
(d) sTawEE fosm (iv) 1984
FE :
@@ () (o (d)
1) @ @) (v) (i)
2 @ @) 3§D (i)
G) (i) @ @) (@)
4) (v) (@) (D) (i)

frefafed 9 9 ford 9o o Tstl g/ aRigge’’ 1 FEiT fohen T o ?
(1) =¥ qEsA (2) TR I

(3) sifasa g (4) o= FEe

frefafaa seTsil ®t ST wfed 89 & HIHANER Fafeerd wifae 3R = fou T8 F2 ¥ T S
EGLE

(a) U H T Hi HASRR] Wl w1 TSTas § TSGR Tl ohl g&IT=ao |
(b) TUTA H TSTASAT HEAT T T |
(c) Ul H TSI gRI STtk Sl § it wfeai i =t |
(d) 9T H TSI HEAT T I |
e :
1) (@), (b), (c), (d) 2 (®), (@) (c) (d)
G)  (d), (o) (a), (b) 4) (b), (d), (©), (a)
SO T —




36. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Indus Water Treaty signed between India and Pakistan in 1960 was designed
to bring peace between the two countries.

Reason (R) :

The treaty has virtually outlined its utility due to belligerent Pakistani

attempts to politicise the water sharing issue.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3)  (A) is correct but (R) is not correct.
(4) (A) is not correct, but (R) is correct.

37. Identify the correct code by matching the event’s List - I with year of their occurrence at

List - IL
List - T
(Events)
(a) October Socialist Revolution
(b)  Collapse of the Soviet Union
() Twin - Tower Bombing
(d) Khomeini Revolution in Iran
Codes :
@ () () (d
®H @ @) 3§D ()
2 G @) @ 0
@) ) (@) (@) ()
(4) (v) () (D) (D)
osors [ EFANAN A

22

List - II
(Year)
1979
1917
1991

2001
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36. = fou Tu tfieRer (A) 3R ek (R) % AT WEl Fe HT Tea™ HIfT :
JURTT (A) : IR AR W™ & o= 1960 § e&areiia §y wia f&fy i <ol & o= wifa
T o g of |
e (R) : 39 9fY &1 ST STYTH €99 FIawd Fi(eh gTele] T Sd dedi o
TR T TSRO A 1 T HLdl @2 |
Fe
1) (A) 3R (R) S T )
2) (A) 3 (R) T TTera T
(3) (A) W& T fhg (R) 9t 71 2
(4) (A) @&l & T fhg (R) §T €
37. el - 19 < T weei SR el - 11 ¥ 5 e 37k wfed 89 & auf &l gferd wid gu 9&t $e i
TEIH HIT
Tt - 1 Tt - 11
(e (=)
(a)  STRER GHSETG! shifd () 1979
(b) @iferad de 1 ferere @) 1917
(c) feaa-afer w e (i) 1991
(d) T gi wifd (iv) 2001
Fe
@ ) (9 (@
® @ @) () (v)
2 @) @) @ ()
@) (@) (i) (@v) ()
@) (v) (@) (i) (D)
osors || [{NINANI 2




38. Match the writers given in List - I with their works in List - II by using the correct code given

below :
List - I List - II
(Writers) (Works)
(a) Chengiz Aitmator (i) Against the Grain
(b) Boris Yeltcin (i) Farewel Gulshari
()  Yevgeny Primakov (iii) War and Peace
(d) Leo Tolstoy (iv) Anatomy of the Middle East Crisis
Codes :

@@ () (o (d)
®m @ @ G ()
2 @ @ Gv) ()
(G) (v) (D) G ()
4) @) G @ )

39. Identify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : China is the driving force as the Shanghai Cooperation Organisation.

Reason (R) : Russia competes with china in leader of the SCO, in its backyard in Central
Asia in areas such as political influence and economic and trade diplomacy.

Codes :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A) is true, but (R) is untrue.

(4) (A)is false and (R) is true.

o-soss [ [N 2




38. uT - 1H U TU el 3R =it - 116 <t T8 37! |ifecd Taieti &l <1 8 T8 %e =1 70 &
T QAT ST |

T - 1 Tt - 11
(T ) (HfEe TorT)
(a) =S AR () SFR=TIA
(b) e Fefee (i) RS TR
(c) eIl UTEHTRE (i) &R TS ¥
(d) for <fewta (iv) TR & 3 fiea $w wefed
FE
@ () (9 (4
® @ @ @G (i)
@ @ @ Gv) (i)
() Gv) (@) @) @)
@ @) @@ @ ()

39. o fou Tu atfueRe (A) 3R @k (R) % foIT W& 2 1 Tew SIS
SAURAT (A) : < oS SN HISH 1 W a9 ¢ |

e (R) : &Y eHiaeh FuTe AR STl qon AR FeAifa sS4 &= § 9e1E Fgdn e &
I F T H o G 7T wREn § 3HE o H g giaenyl s §

w:
1) (A) 3R (R) I T2t € fg (R), (A) T T =men =& 2
(A) 3R (R) SHi T& ¥ g (R), (A) T T == ©
(A) W&t & fahq (R) ®E &1 2

(4) (A) 7ol § 3R (R) WE €

o-sos [N :

(
2

)
)
()
)

6]
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40. Identify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : Ukraine’s alliance with the European Union is a tangible factor of instability
in Eastern Europe.
Reason (R) : Ukraine is cut-off from Russia; but Ukraine’s Russia problem continues.
Codes :
(1) Both (A) and (R) are correct; but none of them is correct explanation to the other
(2) Both (A) and (R) are correct; but (A) is not the correct explanation of (R)
(3) Both (A) and (R) are false
(4) (A)is true and (R) is false
41. Which one of the following faiths is predominant in Central Asia ?
(1) Buddhism (2) Islam (3) Zorastrianism (4) Christianity
42. Identify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : The Arab world today is more violent, unstable, fragmented and driven by
extremism than any time since the collapse of the Ottoman empire
Reason (R) : The conflicts in Gaza, Iraq, Libya, Yemen and Syria, for example, have the
potential to blend together to unleash a regional nightmare with much wider
implications.
Codes :
(1) Both (A) and (R) are correct.
(2) Both (A) and (R) are not correct.
(3) (A) is correct, but (R) is not correct.
(4)  (A) is not correct, but (R) is correct.
43. Which one of the following is known as “Mother of All Agreements” in the context of West
Asia ?
(1) Oslo Accord of 1993
(2) Baghdad Pact of 1955
(3) Camp David Accord of 1978
(4) Declaration of Principles (DOP) signed between Palaestine and Israel on 13, Sept. 1993
44. Who was founder of the Muslim Brotherhood ?
(1) Mohammed Hussein
(2) Sheikh Fad Lalla Haeri
(3) Sheikh Hassan Ismail al - Hudeibi
(4) Sheikh Hassan al - Banna
ososs [ VNI 2




40.

41.

42.

43.

44.

= fau U stfirerer (A) 3R ek (R) & T |& F2 &1 TeaH HifT :
AMURAT (A) :  JUT HH o W Yoh T TSae i IAT § STERAT T TeR HRH ¢ |
T (R) : Iohd T W e T 8, Tohg Iord 1 TF FHE 991 E ¢

e :

1) (A) 3R (R) 3T H2T € Fohg 378 9 18 off THY 1 W = e ¢ |

(2) (A) TR (R) S wE T, TR (A), (R) FT W& w0 7 €

(3) (A) 3R (R) IHI e B |

4) (A) ¥ & R (R) Te@ B

7w ufyrn # frefafed 7al # 9 SF-91 79 7@ § 2
(1) drs (2) wEIH (3) SgW (WRE) (4) TR

= fau Tu tfireRer (A) 3R ek (R) & T W& Fe &1 TeaH HifST

ARMRIT (A) :  3TH TUT & YA o d1¢ © 3T S 37, Ugat § el 1k fgaes, sifeer,
Gfed 3R 3UarE R I =1

qeh (R) : IR & foa e, e, olifaEn, aua iR w@ifen & gEm 9 sifus e
fHfearelf & e & T Sca=1 B it H9TaT © |

e :

1) (A) 3R (R) < TE )

2) (A) 3R (R) IHI &t =
(B) (A) W@ & fhg (R) W&t T 71
(4) (A) ¥@ T & fohg (R) T =)

frefafea o 9 59 ofyem o & deof 9 ‘gt gaeiial 1 S &% &9 | SE1 S7an § 2
(1) 1993 1 3! FHeiian

(2) 1955 & TR Gy

(3) 1978 T H¥Y efae FH

(4) 13 faamRr 1993 ®1 fRfawa 3R ssREa & o= gemaia fagial & =
T WTEER 1 HESE HiF o1 ?

(1) wee o (2) @ FETE TR

(3) I BHA TEATEA A gasil (4) @ THA HA-IA

o-sos [N 2



45.

46.

47.

48.

Match List - I of (Colonial Powers) with List - II (Colonies) by using the given code :

List - I List - II

(Colonial Powers) (Colonies)
(a) France (i)  Eritrea
(b) Portugal (i) Madagascar
(c) Italy - Britain (iii) Burundi
(d) Belgium (iv) Mozambique
Codes :

(@ (b) (o) (d)
1) @) ) G 6
@ @ ) @) G
@) @) (v) @) (i)
@) G © @ @)

Ms Angle E. Brooks who presided over the 24t UN General Assembly Session belongs to
which one of the following countries ?

(1) Nigeria (2) Liberia (3) Ghana (4) South Africa

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Russia’s military action in Syria ignored the US and global interests in the
Syrian ongoing crisis.

Reason (R) : Russia has been targetting the ISIS. What the US could not do in two years,
Russia did in two days.

Codes :
(1) Both (A) and (R) are correct.
(2)  (A) is not correct, but (R) is correct.

)
(3) Both (A) and (R) are incorrect.
(4)  (A) is not the correct explanation of (R).

Which one of the following agreements in Latin America advocated a custom union, common
external tariff and a common market ?

(1) Andean Pact (2) Treaty of Asuncion
(3) NAFTA (4) Miami Summit

o-soss [ [N 2



45.

46.

47.

48.

CIRIECINED %uemqlﬁ‘ﬂjﬁ 1 3R 3Tk SUMTael i eIt - 11 1 79 ST T Fe 1 Ja1T HW g

el - 1 el - 11

( frufrafiren vrferm ) ( 3ufarsT)
() @ () slfen
(b) T (i) FemEER
(c) sear-faea (i) et
(d) dfesem (iv) T
e :

(@ () (¢ (d)
1) Gv) @@ @) ()
(2) @ @) (@Gv) (i)
@) @) (@v) @ (i)
4) @) @ G @)

gt Ut <. 9o FI=0R T T TeraYl & 24 o 93 1 3127wl i of ford <91 i off 2
(1) st (2) @St (3) ®=M (4) <f&ror AfheRt

= feu mu rfirerer (A) 3R ek (R) & faT Wél % 1 ve=™ Hiferg
AR IT (A): TR # w9 &1 § wRaE 7 9 § 91 Swe § s/t iR dfvaw feq &t
I i |

& (R) : T 3712, T, 3L, U, ! AfeTd a1 &1 © IR 0kt <1 i § i 16l o ehl, &
3 9 fedt & o femman

< :

1) (A) 3R (R) A1 w&t €1

2) (A) 9@ & T fohg (R) 92T T
(3) (A) 3R (R) T ¥t 7 2
4) (A), (R) F 9 =08 T T

cifed s ¥ fifha § 9 fhg 9eid g1 e I, T arel Uy (SR%) IR u& 99
ST oh1 T&TERAT G5 2

(1) T = (2) eTgArgsTH Hfy
(3) TRl (TLLTEAT) (4) T R g

o-sos [N 2



49. Which year saw the US invasion of Panama ?

1) 1977 2) 1980 (3) 1989 4) 1992

50. Identify the correct code for the Assertion (A) and the Reason (R) as given below :

Assertion (A) : The enhanced role of the US in Western Europe after the World War II was
both a contributory source and an outcome of the East - West tensions.

Reason (R) : The goals of US were to restore and strengthen capitalism, minimize
communist influence and open new fractions for its commercial and strategic
influence.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.
(3) (A) is correct but (R) is not correct.
(4) (A) is not correct but (R) is correct.

-00o0-

o-soss [N 0



49. g od @fRERT 3 =M W SR foRan ?
1) 1977 2) 1980 (3) 1989 @) 1992

50. = QU 7T tfeR e (A) 3R Ak (R) & foTT Wel e &1 T8aM HifeT
fuekerT (A) : Tt favergs o =g ufvadt 209 | stAfent i 9l g8 yfHer qa-ufvem & qre
I TEM Tl SR IFHT TR S o1 |
& (R) : STHTERT 1 T Yiiarel i IA: X0 3R ggg w1, Arast Y9g &l =
FHET AR T Afvrres qeon Tafss 99 & fore 78 e Gier o |

1) (A) 3R (R) A TE
) (A) AR (R) I T T €
(3) (A) W@ g fhg (R) &t T2 B
) (A)E& TR € fohg (R) W B

-00o0-

o-sos [N g



Space For Rough Work

o-soss [N 5



